
4-70

Panels & Doors
B

ea
rin

g
s 

&
 P

iv
o

ts
C

as
te

rs
 &

 F
ee

t
Pa

ne
ls

 &
 D

o
o

rs
Fa

st
en

er
s

Pr
o
fil
es

W
ha

t 
is

 8
0/

20

More on 80/20® products  
available at 8020.net

Standard Lift-Off Hinge - Right Hand with Single Long Pin

Part No. Series A B C D E F G H J K L Weight

2073 .377” 1.156” 1.500” .750” .375” 10-32 .242” .750” .500” .250” .529” .060 lb
2073-Black .377” 1.156” 1.500” .750” .375” 10-32 .242” .750” .500” .250” .529” .060 lb
2093 .625” 1.655” 1.500” .750” .375” 1/4-20 .242” .875” .500” .250” .780” .086 lb
2093-Black .625” 1.655” 1.500” .750” .375” 1/4-20 .242” .875” .500” .250” .780” .086 lb
25-2073 9.40mm 29.00mm 38.05mm 19.05mm 9.53mm M5 x 0.8 6.15mm 18.90mm 13.00mm 6.20mm 13.40mm .0262 kg
25-2073-Black 9.40mm 29.00mm 38.05mm 19.05mm 9.53mm M5 x 0.8 6.15mm 18.90mm 13.00mm 6.20mm 13.40mm .0262 kg
40-2093 16.85mm 43.60mm 38.05mm 19.05mm 9.53mm M6 x 1.0 6.15mm 18.90mm 13.00mm 6.12mm 20.70mm .0436 kg
40-2093-Black 16.85mm 43.60mm 38.05mm 19.05mm 9.53mm M6 x 1.0 6.15mm 18.90mm 13.00mm 6.12mm 20.70mm .0436 kg

Part No. Material Alloy Process Finish

2073

Aluminum 6005A – T61 Milled

Clear Anodize
2073-Black Black Anodize
2093 Clear Anodize
2093-Black Black Anodize
25-2073 Clear Anodize
25-2073-Black Black Anodize
40-2093 Clear Anodize
40-2093-Black Black Anodize

Material Specifications

E

D

C

B

A
F

ø G

J

H

K

L

Profile

Standard Lift-Off Hinge

T-Nut

Bolt

Included Hardware (Mount to T-Slot)
Series Part No. Qty. Bolt Part No. Qty. T-Nut

3048 1 10-32 x 1/2” SHCS (Black) 3276 1 Economy
3067 1 1/4-20 x 5/8” SHCS (Black) 3286 1 Economy

13-5512 1 M5 x 12mm SHCS (Blue) 25-1951 1 Economy
13-6516 1 M6 x 16mm SHCS (Blue) 3836 1 Economy

*The gap distance between the two mating profiles is .063” (1.60mm)

•	 Used to create lift-off hinge assemblies (pg. 4-76) •	 Mounting hardware included

http://8020.net
https://8020.net/2073.html
https://8020.net/2073-black.html
https://8020.net/2093.html
https://8020.net/2093-black.html
https://8020.net/25-2073.html
https://8020.net/25-2073-black.html
https://8020.net/40-2093.html
https://8020.net/40-2093-black.html
https://8020.net/2073.html
https://8020.net/2073-black.html
https://8020.net/2093.html
https://8020.net/2093-black.html
https://8020.net/25-2073.html
https://8020.net/25-2073-black.html
https://8020.net/40-2093.html
https://8020.net/40-2093-black.html
https://8020.net/3048.html
https://8020.net/3276.html
https://8020.net/3067.html
https://8020.net/3286.html
https://8020.net/13-5512.html
https://8020.net/25-1951.html
https://8020.net/13-6516.html
https://8020.net/3836.html

	Front_Cover
	Front_Inside_Cover
	1_Catalog_24_What_is_8020_Sec_1
	2_Catalog_24_Profiles_Sec_2
	3_Catalog_24_Fasteners_Sec_3
	4_Catalog_24_Panels_and_Doors_Sec_4
	5_Catalog_24_Casters_Feet_Sec_5
	6_Catalog_24_Bearings_Pivots_Sec_6
	7_Catalog_24_Stanchions_Sec_7
	8_Catalog_24_Accessories_Sec_8
	9_Catalog_24_Structural_Shapes_Sec_9
	10_Catalog_24_Machining_Services_Sec_10
	11_Catalog_24_Tools_Sec_11
	12_Catalog_24_Index_Sec_12
	Back_Inside_Cover
	Back_Cover

